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I T AISaad. A T Tl A 3T TU1 GRSl W HoiuT Areedrd Qe 4 7 Hresdl g@e
IO FEeh S,

(6) STRUDRRT THeT T o I WISl IR L. TG o T |G T IR Feds § Turee SR el TH
HeT T T TS Hedd 3§ I GRS U RS AN Fhiog1 I 0 ol He i,
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TAETAR 76T Yaion hIFEreaT TR hRaE wIUdrd 980 9 St ookl uls Uk
TYIAT HRIEREEAT AT/ fHar T0d T a9 ThU=aT SST=1 g e dsa.
TEA T UTTAASRATG fafgd hoxk A WUUaraiet & YyTgiaent sMfkehauul STl & Tar
TR ST T HTOTH SR Ao FHHERIGETH!, T ware THaehagarial sas
Eﬁﬁmwﬂﬁmmmmmmaﬁwmm@éﬂ




Bl4 2

HEAT HHEE S/ SPACE FOR ROUGH WORK



A 3 B14

1. ‘fevia’ @ v O @ee 9nd 19 fasl.

(1) fem+ oM (2) fo+ @ (3) fam: + @ (4) fog + oa
2. ‘9t THEU’ a1 ATy g 7Y sHee Wi i ?

(a) WARY THS FO (b) =1 Ul A

(c) IO G A (d) i T RO

it IV

(1) (a) P S FFR & GF (2) (c) F (d) IR TH T I

(3) (a), (b) T (d) IR (c) T (4)  (a) 9 (d) SR IR S IH
3. ‘AR ATIUIe TV THS Tiies | a1 SeETdie 9as JHR ST,

(a) <R HITH (b) et wEH

(c}) SARHAT=H HEAH (d) wETe® T

I 9T

(1) {(a) & TR A & Ih (2) (b} e SUSK dhI G4 TH

(3) (c) Ha S STk |8 TH (4) (d) P SUSK Fh! WA 9%

4, (i) SEUYRHA T GE SO,
(ii) forveme wiiea amia gfeen oTen Tu[ FrifwerRit et Sy .
(ifi) SR wRie 9 R GO I Ho TG,

T YA fagae e,

(a) iee 9 fagare (b) TE A fagaR

(c) Tou am fagarm (d) oHiedH e T

ggiEt 39T ;

(1) (a) SR =t T IF (2)  (b) T TR ¥

(3)  (c) IR st Wel (4)  (d) TS ST T qH
5. Woiets faumi me s

(a) WO, HAR (b) ¥, WE (c) TSk, ¥ (d) TRUM, e

Wf’iﬂ'?ﬁi':

(1) (a) T (b) TR oH ol T (2)  (c) TR =kt A H

(3)  (b) SRR =Tkt Wl <% (4)  (d) SR et e T
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TET® AT ared e Uyt S6t fo. (. 6 9 10)

I il YEHEeieh AR AU e e e Yol o Higd S, € gerar
¥ oo, s Algd, SrearreT STEeR THeT U9 RO S gear.  Uuie agHr
g 30 FEE THE M 20 2 FehlT= SO T8I0 o789, € 91e9e, AR [ ae & Ime ore.
A 3.

Feod AMEUEN S B UH dediean YeEdEl g, e omms W fafend 9 W
WHH HIYSEl. S 99 o qoiE 7 WEHE Tod 994 fhdl ot fiow ? 3ae 92U we Ee
IEe HI 7 B AG WIE 8. FhI Tl THad HiHd o ¥og =@ 354, 91 Iear S
1 3 R § foreeA Y e, Ao faEnedl S geea. qaien S e gl die;
Tt = Y 3 37, 1 S Qe TEOiEE & il =it ufes) gse S e, 37 S8, SFaEE
UE F 01 ! 391 MET 5o, 907 B9 & §A FAod 0T, & 91E, & W Gheqgash . Sl 3¢ 7
FHBATIE ¢ TR0 AR, TER [F Ol I O W 97 OEE qHs, ore. S Sl 9w
e Fafidien, dufaffdt gy ormm. sram, QA Ty, e aifed, quias, SETue a1 yIsgi
AT R E HEA RS 3e, TG Hiader TR S Ao Hi, 9O Td fefrarst w8 wo!
. AR Y& ST, JTEhaR ToR 3o T5deh HISHIs - Yohl¥Id ol SIdld, &1 SHTe =18 Tl shendlii= S
WA, - TS A e o§E wewe R fegm . = fudde qo-qaied gy
TIHBTON AN AR, 6 TWTATE 8. T A TSUATH 918 379 T SehaTq vl <uie =g | Hiferhom,
12 qTE, A e FrER O, 1 e FoETs 81 Sed. TETEl T AAfeeg Fe T AeErE g 4v,
R AT Y A, Fecaral] SHEA SRR S, T 9 Fe8. U1 oieuare! aanl gete. ‘3 T e,
EEH%W’W@W\WW. U1 Feled FUATE qan el fodtan veet W sliews FOneT Rl
‘g g WHM AR, A 9 IO 3 TR, U HrevrET o€ T Sl i 61 @ g, U
IRl R HION STy W A0S F W FEehid sid,  TaE 21 fire’ @y wfaswdie weEwes §aa
ITE. AT ST AT TR .

AT B I @Y TE . 1 WIsg 3 ra 319wl W Sed TYE B, O vl
FoTeIUTR T WA= IS Forigse Wfes T TG 34 &, Hhae W e a9Hs Sl g 3™
Tl AL ‘geve sush e’ S weveT e, oTHE a9 SHA mUed. @ We Ui wer gud
e T, TSN FHITE =S . e FE S o a1 Feue 31 STl ST ek
YES 2O UrEeTY AR AT

6.  THEHUT S FOHE T HeUS B0GTE] HE ATAS WG B0 ?

(a) SIEIRAT T faam (b) FREfvme sHo

(c) fercirem (d) FomE e

Ui 39T

(1) TR (a) 3T (d) =0 (2) TR (a) IF AR WA SR

(3] (b), (¢), (d) T e (a) T (4) e (d) Fh SRl F TN
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7. WEE SRR H s F A ?

(1) A =S (2) W
(3) W= (4) o
8. wwmmﬁ@ﬁwaﬁ?
(a) EeAT ST ferftem (b) el o
() s 3 s s am () FewR whag frfam
o S
(1) W (a) 30T (b) SRR (2) T (o) O (d) SR
(3) W (a) TSR AR T IH (4) R (d) SRR SR T TF
9. Wwﬁﬁawmﬁﬁmwaﬁ?
(a) o wEYS (b) ‘T T S AT
() FURIET T FETT FOAHS (d)
uatEt I
(1) & (a) TR (2) R (d) SRR
(3) W (¢) TR (4) R (b) SR

10. TEEIH AT AEE HIO ?
() Wmm@ﬁmmmmm.
(b) @WWWWW%WWWW.
(c) W,mm,%wmw,mwmmm‘
(d) vz SR Hewe e e e

i I

(1) e (d) SO (2) TH (c) TR

(3) T (a) TR (4) T (b) T

11. Match the words of Column A with meanings of Column B.

Column A Column B

(a) To be in the swim (ij Condemn

(b) To be in keeping with (ii) To be in the main current

(c) To Draw off (iiij Harmonize with

(d) To cry down (iv) Retire

Answer Options :

(a) (b) (c) (d)
(1) (i) (i) (v) @)
(2) (@) @) @) ()
(3) (v) (i) (1) (@i
@ @ (v) (i) (i)

HSAT HHE FEM/SPACE FOR ROUGH WORK PT.0
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12. Hard work is necessary, for you to get promotion.
Select the correct compound sentence of the above.
{1) Working hard is necessary for you to get promotion.
(2) If you work hard you will get promotion.
'3)  Unless You work hard you won’t get promotion.
(4)  You must work hard or you will not get promotion.

I —_—
13. ‘Achilles Heel’ means . .

(a} Weakness (b) Anger (c) Strength (d) Advantage

Answer Options :

(1)  {c) only (2)  (d) only (3} fa) only (4) (b) and (d) only
_— -_ _—
14. Match the words of Column A with meanings in Column B.

Column A Column B

(a) To be at sea (i)  studded with

(b)  Come round (ii) in uncertain mind

(¢) Doup (iti) packup

(d} Set with (iv) recover

Answer Options :

(@) (b) (e) (d)
(W) () (v) (i)
(21 (i) (iv) (i) (i)
(3)  (v) (i) (i) (i)
(4) (i)} ) (iv) (i)

15. They used a rope to climb the building
The passive voice of the above sentence is o

a) A rope is being used for building
A rope was used by them to climb the building

—

{
{b
(c) They were using the rope to climb the building
(d) A rope was being used to climb the building
Answer Options :

(1) (a) only (2) (b} only

{3) (¢} and (d) only (4) (a) and (d) only

F=AT HIATHIS AT/ SPACE FOR ROUGH WORK
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Read the following passage carefully and answer the questions on it.

(Q.No. 16 to 20)

Economists, ethicists and business sages persuade us that honesty is the best policy,
but their evidence is weak. We hoped to find data that would support their highest
standards of business behaviour. To our surprise, our pet theories failed to stand-up.
Treachery, we found, can pay. There is no compelling economic reason to tell the
truth or seek one’s word punishment for the treacherous in the real world is neither
swift nor sure.

Honesty is, in fact, primarily a moral choice. Business people do tell themselves
that, in the long run, they will do well by doing good. But there is little factual or
Jogical basis for this conviction. Without values, without a basic preference for right
over wrong, trust based on such self-delusion would crumble in the face of temptation.
Most of us choose virtue because we want to believe in ourselves and have others,
respect and belief in us.

And for this, we should be happy. We can be proud of a system in which people
are honest because they want to be, not because they have to be. Materially, too trust
based on morality provides great advantages. It allows us to join in great and exciting
enterprises that we could never undertake if we relied on economic incentives alomne.

Economists tell us that trust is enforced in the market place through retaliation
of reputation. If you violate a trust your victim is apt to seek revenge and others are
likely to stop doing business with you, at least under favourable terms. A man or
woman with a reputation for fair dealing will prosper. Therefore, profit maximizers are
honest. This sounds plausible enough until you look for concrete examples. Cases
that apparently demonstrate the awful consequences of trust turns out to be few and
weak, while evidence that treachery can pay seems compelling.

16. Which is the material advantage which the author sees in being honest ? It
permits one to :
(1) understand activities which may not be economically attractive.
(2) be honest for the sake of honesty alone.
(3) make a lot of profit in various areas.
(4) none of these.

17. Why do businessmen, according to economists remain honest ? Because dishonest
businessmen :

(1) are flogged in the market place.
(2) are always prosecuted.
{3) can make more money.
(4) cannot stay in business for long.

18. The phrase ‘stand-up’ as used in the passage means :
(1) hold up (2) getup (3) supported (4) get established

oAl HIWMEIS! A/ SPACE FOR ROUGH WORK
P-ToOn



Bi4 8 A

19. What do economists and ethicists want us to believe ?
(1) Businessmen are honest only at times.
(2) Businessmen should be honest at all times.
{3) Businessmen cannot be honest at all times.
(4) Businessmen turn dishonest at times.

20. Why does the author say that one can be proud of the present situation ?
Because people are :

(I} respect seekers (2) honest without compulsion
(3] unselfish {4) self-respecting
21. 149M 1952 3 wem wesmEid = s g qutg ifaus aiekfos G
AT T,
(a) . fhee
(b) wifgafET Hrg
(c) WS g
(d) Y EE
(e) STRUN 37TE® 3T
g I
(1) (a), (b), (c) e (2)  (a), (b), (d) e
(3} (b), {c), (d). (¢} FoHA (4) (a), (b}, (d), (e) e
On 14th March 1952, with the cooperation of _ Dr. Baliga established

the well known Soviet Cultural Society.
Dr. Kitchlew

b) Sahibsingh Sokhe
c) Sarojini Naidu
d) Rameshwsari Nehru

e} Aruna Asafl Ali
Answer Options :

(1) {a), (b), (CI only (2} (a), (b), { d) only

(3) (b}, (c), (d}, {e) only (4)  (a), (b}, {d), () only
22, T+t ofedt o Rl g& F9,

(1} EHST IR (2) VST =

(3) AR Mpeary (4) @@ Hehsl

o started the first textile mill.

(1) Kavasji Davar (2) Jamshetji Tata

(3) Morarji Gokuldas (4} Khatav Makanji

el FHIAMTS I/ SPACE FOR ROUGH WORK
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23. WWWWWWWWWWM S 9
i IR STE ?
(1) w0 - T= - foed - Fuga=
(2) w0 - foRy - W - T
(3) fTaedf - For - @ - AU
(4) wEEE - TR - R - wieE
Which of the following is the correct descending order sequence of the regions in
Maharashtra in terms of annual average rainfall received ?
(1) Konkan - Khandesh - Vidarbha - Marathwada
(2) Konkan - Vidarbha - Khandesh - Marathwada

(3) Vidarbha - Konkan - Khandesh - Marathwada
(4) Marathwada - Khandesh - Vidarbha - Konkan

24. TRNRRE TR HemmTaEd e faum awel foed s, e gara faum e v s
(a) L TEmET 6 T STHOT TereRlg S, |
(b) LT FEmEn 16 71 iR el =
(c) TS Temn 207 & TR e v,
(@) TATTAE U HEmr 69 9 TR FEHN 6 ¥ TR SN,
it I
(1) faum™ (a) @ (b) ¥ T LA
(2} faum (b) 9 (d) ¥ 99 R4
(3) fa¥m (a), () T (d) T TH A
(4) Taum™ (b), (¢) A (d) T T e,
Following are the statements related to National Highways in Maharashtra, Select
the option which comprises of valid statement groups.
(a) N.H. 6 passes through Akola district.
{(b) N.H. 16 passes through Nandurbar district.
(c) N.H. 207 passes through Ratnagiri district.
(d} Nagpur is having the intersect of N.H. 69 and N.H. 6.
Answer Options :
(1) Statement (a) and (b} are correct.
(2) Statement (b) and (d) are correct.
(3) Statement (a), (c) and (d) are correct.
(4) Statement (b}, (c} and (d) are correct.

25. 2013-14 =0 TEFTANTER, WSSt For Tear=n Fafdidie ame e s e ?

(1) T (2) W (3) TG (4) “hies
In 2013-14, which of the following state has highest share in export ?
(1} Gujarat (2) Maharashtra (3) Tamil Nadu (4} Kerala

FoeAT UG A1/ SPACE FOR ROUGH WORK
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26.

10 A
2011-12 =01 MHSARNTEAR, WEHSTH A1 A R sfues TR e,
(1) oi=ifirr & (2) daTad
(3) It 9 IehEETT suEn (4) =T T

As per the 2011-12 Statistic, which of the following sector providing employment
in largest scale to Indian people ?

{1) Industrial sector (2} Service sector

(3) Agriculture and Allied activities (4} None of these

27,

e 1980 Well YRGUHT R0 S TSI FOG S 7

(a) Hew o A e anfon g &%

(b 3fem 9% enfor sromeET FF

(c) WHUIEM s anftn SHfidzs d& sitw FHad

(d) =T HF NN FELS W A e

it 3T

(1) (a) & (b) (2 (o ;@) (3 FE(q) (4) 9 (d)
Which of the following banks were nationalized in April 1980 ?
(a) Central Bank of India and Canara Bank

(h) Indian Bank and Allahabad Bank

(c) Corporation Bank and Oriental Bank of Commerce

{d) Dena Bank and United Bank of India

Answer Options :
(1} (a) and (b} (2} (c) and (d} (3)  Only (c} (4) Only (d)

28.

1 1987-88 q2010-11 e S0 Yeifean fafaer Swien Heesh (OPEC) WRAm=T S1Hmd-
frafg =R EIIES

(1) GaEH ared oTe (2) GO Y e

(3) FIETE TS AR (4) @I AL

Since 1987-88 to 2010-11 India’s Import-Export trade with The Organisation of
the Petroleum Exporting Countries (OPEC) is .

(1) Continuously Increasing (2) Continuously decreasing

(3) There is no change (4) None of the above

HeT HTATHIS ST/ SPACE FOR ROUGH WORK
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29. W Yualt® Mo qRedr] SEaR UHO 9ima . et enfor wed 9mme
Forl TeeaA T SMER AATAH TR,

(1) TTHO 2400 A0 IRE 2100 (2) T 2200 snf wEG 2300
(3) T 2400 sufor IRE 2300 (4) TrHror 2200 3Tf RS 2400

According to the definition of Absolute Poverty in 6t Five Year Plan, everyday
intake of foods in rural areas calories and calories in urban
areas are essential.

{1) Rural 2400 and Urban 2100 (2) Rural 2200 and Urban 2300
(3) Rural 2400 and Urban 2300 (4) Rural 2200 and Urban 2400

30. WEGYH! FIEH SIS FoT G 0 ?
(a) =fifE arg anftn <=
(b) ET S o7 W
(c) -3k =it enfon IR wef
(d) iz 3ftn Yeifean
it I
(1) (@3fob) (2 b &) (3) (a) 3N (q) (4)  {c} for ()
Which of the following are non-conventional power tools ?
(a) Natural gas and Electricity
(b) Wind power and Biogases
(c) Geothermal energy and Solar energy

(d) Coal energy and Petroleum energy
Answer Options :

(1) (a) and (b) (2) (b) and (c) (3) (a) and (d) (4) {c} and (d)

31. Wwﬁwﬁﬁwwaﬁww@%~mmﬂmmﬁm@m
ST ST ?

(1) Hae 9Rfre - %o 246 (2) 12 370 13 =91 9T - HoH 264 § 307
(3) 4 o1 fawW - woH 36 4 51 (4) 3ufawm - w129 35

In which schedule and which Article of Indian Constitution, the provision of
Central - state financial transaction is prescribed ?

(1) Appendix - 7, Article - 246 (2) Part 12 & 13, Article - 264 to 307
(3) Part 4t™h, Article - 36 to 51 (4} Part 3°4, Article - 12 to 35

ol ThIHTETS! AT/ SPACE FOR ROUGH WORK
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32.

oo g LA fe S TP €T mn R R TR

12 A

SHee Favm I w1 wfidi=t T gardge ad,

(a) WifdF faufrieeagn FHOER yiatferen s sy feasus
(b) YRAr=A S WA Yy Mass

(c) wifaw fasfirizegi "

(d} Wi AAfa=FRET anufE fesns

YRt FIU fFum/ faum steT 3R ?

(1} (a) 37 (d) (2)  (b) = (c) 13) (a) 3T (c) (4 (c) 3o (d)
The constituen: assembly was suggested by cabinet mission plan composed of :

(a] Indirectly elected by the system of proportional representation from provincial
legislatures.

(b} Directly elected members by the people of India.

(c) Nominated members by the provincial legislatures.

(d) Elected bv restricted and select franchise,

Which of the statement/s given above is/are correct ?

(1) (a) and (d] (2}  (b) and (c] (3} (a) and (c) (4) (¢} and (d)

33.

EUhT UM 2019 HIS * IRA o7 LR TAREvdrd 377e ?

(1) W qarst, Uied 7ed Hed Hiedd, TS e

(2) WIS WS, UA TSR, A ¥

(3) 3o fagd s, AT TSI, WoE gEsi

(4) dfed wea Hied med, gt dgee, TUE st

In 2019, the ‘BEHARAT RATNA’ award was conferred upon

(1) Pranab Mukherji, Pandit Madan Mohan Malviya, Nanaji Deshmukh
(2] Pranab Mukherji, Bhupen Hazarika, Nanaji Deshmukh

(3} Atal Bihari Vajpayi, Nanaji Deshmukh, Pranab Mukher;ji

(4} Pandit Madan Mohan Malviya, Sachin Tendulkar, Pranab Mukherji

34.

AR e TEE FvE A 2

(a) Tfemm (b) EESE (c) wEtEd (d) ST

L eipigcs e

(1) T (a), (b) S (c) (2) FH (a), (c) S (d)

(31 T (b), (c) A () (4)  fa), (b), {o), (d)

The Arctic circle passes through :

{a) Russia (b) Iceland (¢} Sweden (d) Denmark
Answer Options :

(11 Only (a}, (b), {c) (2) Only (a), (e}, (d)
(3t Only (b), (¢}, (d) (4} (a)}, (b), (c), (d)

Tl RN 9/ SPACE FOR ROUGH WORK
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35. U faam faw, 2020 @ feaamt o (fowa) et s ?
(1) % 39 3fed - fagm 3 d59 Jon TFasweq
(2) Toqrme Tt
(3) iR fagm 7 foamEE! o
(4) vvER wfasmarEt foam 9 daem
What is the theme of the National Science Day, 2020 ?
(1) Make in India - Science and Technology driven innovations
(2) Women in Science

(3) Science for the people and people for the science

(4) Science and Technology for sustainable future

36. A% 10 4 12 STHART 2020 <M 93 1 * flae YRATa TS OIfeed Wiled’ IETETE A9 Tu
IS — SIS .

(a) 7AW (i) A9 9iE HemR

(b) TETTATEAH (ii) e g ford

(c) 3qERA (iii) fafeq T&2

i I

(1) (a)-(1), (b)-(ii), (c)-(iii) (2)  (a)-(iii), (b)-(ii), (c)-(1)
(3) ({a}-(ii), (b)-(i), (c)-(iii) (4 (a)-(ii), (b)-(ii), (c)-(i)

The 934 ‘ALL INDIA MARATHI SAHITYA SAMMELAN’ was held at Osmanabad from
10" to 12t January 2020. Match the columns.

(a) President (1) Namdeo Dhondo Mahanor

(b) Receptionist (ii} Francis Dibrito

(c) Inauguration (iii) Nitin Tawde

Answer Options :

(1) (a)-(), (b)-(ii), (c)-(iii) (2)  (a)-{ii), (b)-(ii), (c)-(i)
(3)  (a)-(ii), {b)-{i), (c)-(iii) (4)  (a)-{ii), (b)-(iii), (c)-(3)

HAT THIHTEIG SR/ SPACE FOR ROUGH WORK -
.T.O.
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37. 25 feHaX 2019 U ‘oo yoi@' o HRAT & H0AE TS, a1 ARHAESE R0 b=
T A A 7

(1) ==, HAlcH, geagew, qivay Sme.
(2) SRS, FEWIE, SN STOr VR, TSR, ATHM, AT, HeAase.
(3) THEIH, HeWZ, 9T WE, AP, AEYe, IR

(4) ETEm, FARH, oW, TATRY, TTIRY, TSEH, TR,

On 25 December 2019, ‘ATAL BHUJAL’ Scheme was launched in India. Which
states were included in this scheme ?

(1) Haryana, Karnataka, Madhya Pradesh, West Bengal.

(2) Uttar Pradesh, Maharashtra, Jammu and Kashmir, Rajasthan, Assam,
Manipur, Madhya Pradesh.

(3) Rajasthan, Maharashtra, West Bengal, Nagaland, Madhya Pradesh, Uttar
Pradesa.

(4) Haryana, Karnataka, Gujarat, Madhya Pradesh, Uttar Pradesh, Rajasthan,
Maharashtra.

38, FHENEEEHT TAHH A TE6H A6 FE ?

(1) T (2) Hd (3) TIHeAT (4) TS
What is the new name of Kazakhstan’s Capital Astana ?
(1} Furgan (2) Aramat (3) Nursultan {4) Taraj

39, WoEGTH FIoM Tk gl IOTHE FHEER AR ?

(a) w@a™ (b) T

(c) HEHA-TA-FES (d) 3w

EE I cAlo Lo PRI R AEEEN

(1) (a) =00 (b) (2)  (a) 7 (c)
(3) (a). (b} A (c) (4)  (c) ST (d)
Which of the following factor’s are responsible for greenhouse effect ?
(s) Water vapour (b) Plants

(c) Carbori-dioxide (d) Argon
Select the correct oprion from the following.

(1) (a) and (b) (2) (a) and (c)
(3} (a), (b} and (c) (4) (c) and (d)

FoaT HIATATS S/ SPACE FOR ROUGH WORK
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40. WA STl Tl

(a) W HE (i) 1981
(b) @ FED () 1974
(c) TR HE (iii) 1986
it I

(a} (b} (e}

(1) (i) (@) (i)
(@) @) @ @)
(3) (i) () (@)
(4) (i) @@ ()
Match the following.
(a) Water Act (i} 1981
(b) Air Act (ii) 1974
(c) Environment Act (iii) 1986
Answer Options :
(a) (b) (e
(1) (@ (i) (i)
(2) () @ (i
(3) (il @} (1)
(4) (i) (i) (i)

41. The percentage error in the area of an ellipse when an error of 1% is made in
measuring its major and minor axes is «

(1) 1% (2) 4% (3) 2% {(4) none of these

42. If double integral in Cartesian coordinates is given by ”f (x, y) dxdy, then the

R

value of same integral in polar form is :

(1) ”f {rcos#, rsinf}drdé (2) _U f(rcos8, rsind)rdrdd
P P

(3) H flrcosb, rsinﬁ]errdB (4) H flrsin®, rcos6)drdd
P P

43. The differential equation formed by y=A cos x+B sin x+4, where A and B are
arbitrary constants is :

a2y d?y a%y
h Va0 g Woy=o @ Hey=r @ —S-y=d
(1) a2 (2) 2 (3) 2 Y (4) Y

HTAT HHTEE AN/ SPACE FOR ROUGH WORK
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44. For the differential equation y'+4y=sin 2x, trial function for calculation of
particular integral is :
(1) Axsin 2x+B cos 2x (2)  Ax sin 2x+Bx cos 2x
'3) A sin 2x+Bx cos 2x {4) A sin 2x+ B cos 2x

45. If A is a square matrix such that A%=1, then A~ ! ig equal to :

(1) 2A (2) 0O (3) A (4) A+l

-

46. The value of the double integral J fxyex Y dxdy is -

(1} ye¥(xe*—e¥) (2)  (ye¥—eY) (xeX-e
(3) (ye¥—e¥xex (4)  (ye¥—ey) (xe* +eX)

47. General solution of Yy +y-6y=0is :

(1) yzCle%x+C2e‘3x (2) y=Cle’3x+C262x
(3) y=C,e®*+Che—x (4} y=Ce bx4C ex
. . . . 3’z 3z . )
48. The Partial Differential Equation O —y + 6 —= =xy is classified as :
dx oy
(1) elliptic (2) parabolic (3) hyperbolic (4) none of these

49. If f{x, y) =sinx cosy, then which of the following is a critical point ?

A

UG @ FLI 0.7] 4) 0,0

50. The following systems have non-trivial solutions

kx+2y+3z=0

2x-3y+z=0

3x—y+4z=0

if .

(1} k=2 (2) k=1 i3) k=0 (4} None of these

3 . . -
51. The value of J.U x*dx using trapezoidal rule, divided into 4 equal subintervals, is

equal to :
(1) 22 (2) 24 (3) 20 (4) 21

z dz .
B52. If zis a homogeneous function of x, y of order n, then x—x + yg is equal to :

(1} nn-1)z (2} nz (3} n/=z {4) none of these

el SHTUTETS T/ SPACE FOR ROUGH WORK
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53. Volume common to the cylinders x?+y?=4a2 and x2+22=a2 is :
4 16 16
1) 3w’ @) m’ @) e’ g
54. The Jacobian matrix of the function defined by f: R2 — R? as
flx y) = 2% +3y, 4x—2y) at (1,—1) is :
4 3 4 4 4 -2
(1) [4 _2} (2) {3 _2} 3 [4 3 (4) None of these
55. What is the degree of the first order differential equation given by
(dy}l's_ xcosx
o Tl 2
dx x? 4+ fsinx |
(1} 1.5 (2) 1 3) 3 (4) 0.5
a4 dy )’
56. The order and degree of the differential equation 2x d—!: + 5x2 (EQJ —xy =0 is :
x X
(1) Fourth order, first degree (2) Third order, first degree
(3) First order, fourth degree (4} First order, third degree
57. If the friction angle ¢ is larger than the lead angle 6, the screw is said to be :
(1) Shear-locking (2) Force-locking
(3) Self-locking (4) None of these
58. A ladder is resting on a rough ground and leaning against a smooth vertical wall.
The force of friction will act :
(1) downward at its upper end (2) upward at its upper end
(3) zero at its upper end (4) perpendicular to wall at its upper end
59. The C.G. of a circular sector measured from center is at a distance of :
2r sina T sina 4r 2r
() ~3o— 2 — (3) 3o @ =
60.

A block is projected along the floor with an initial velocity of 7 m/s and constant
acceleration ~3.5 m/s?. What will be the time taken by the block to come to rest
and corresponding distance travelled ? '

(1) 2sand 7m (2) 0.5sand 14 m

3) 7sand7m (4) 2sand 14 m

HeAT RIATETS SAT/SPACE FOR ROUGH WORK
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61. A bullet is fired from a horizontal distance of 40 m measured from a bottom of a
2.81 m highk vertical pole. Calculate time required for bullet to just clear upper
end of the pole.

1) 2 sec. (2) 2 sec. (3) 9.81 sec. (4) .Jo.81 sec.

62. Which force system requires the one force equation in the direction of force and
one moment equation about an axis normal to the plane of the forces ?

1) Equilibrium of collinear force system
'2)  Equilibrium of parallel force system

'3) Equilibrium of general force system

‘4) Equilibrium of concurrent force system

63. When a body is in equilibrium, then which statements are correct ?
(a) Summarion of moment about any point is equal to zero {i.e. ZM=0).
(b) Summation of forces along any direction is equal to zero (i.e. ZF=0).
(c) Summation of moment is not equal to zero (i.e. M = 0).
(d)  Summarion of forces is not equal to zero {i.e. ZF # 0).
Answer Options :
(1) ({a) and (d) (2) (b) and (c) (3) f{a} and (b) (4) (b) and {d)

64. A rod (ABC) of weight 50 N and 1.5 m long is simply supported at one end (say A)
and passes over roller support at B, 1 m away from end A. What will be the
maximum load that can be applied at the second end of rod (say C} so that the rod
does not topple ?

{1) 25N (2) 50N (3) 75N (4) 100N

65. The equation of motion could be written as equilibrium equations simply by

introducing inertia forces in addition to the real forces acting on a system. This

idea is known as __ .

(1) D’Alembert’s principle (2) Principle of motion

(31 Newton's second law (4) Law of motion

66. A man weighing 800 N is in boat weighing 4000 N which is floating in a still lake.
If he jumps of the boat with absolute velocity of 10 m/s, find the velocity of boat.

(1) 2m/s (2) 0.5m/s (3) 1.5m/s (4) 2.5 m/s

67. The slope of the velocity time diagram (i.e. v-t curve} gives
(1} Displacement

(2) Rate of velocity

{3) Acceleration

(4) Distance travelled by the body between time interval

ST THIETATS W1/ SPACE FOR ROUGH WORK
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68. An airplane begins it’s take-off run at A with zero velocity and a constant
acceleration. Knowing that it become airborne 30 seconds later at B and that the
distance AB is 900 m. What is the acceleration and take-off velocity of airplane ?
(1) 1.8 m/s? and 54 m/s (2) 2.0m/s? and 56 m/s
(3) 2.0 m/s® and 60 m/s (4) 1.8 m/s? and 60 m/s
69. Arifle of 5 kg mass fires a bullet of 10 gm mass at a velocity of 300 m/s. Determine
the velocity with which rifle recoils.
(1) 04 m/s (2) 0.6 m/s (3) 1.0m/s (4 2.0m/s
70. During the impact of two moving bodies, the magnitudes of the forces and the
duration impact depend on
(a) shapes of the body
(b) velocities of the bodies
{c) elastic properties of the bodies.
Which statements are correct ?
(1) (a) and (b) () (a) and (c) (3) (b) and () (4) (a), (b) and (c}
71. Course aggregate means the aggregate that are retained on :
(1) 2.36 mm LS. Sieve (2) 2.0 mm LS. Sieve
(3) 4.75 mm LS. Sieve (4) 0.425 mm LS. Sieve
72. Seven days minimum compressive strength of cement for 53 grade OPC is :
(1) 22 MPa {2) 37 MPa (3) 15 MPa (4) 16 MPa
73. In pre-stressed concrete high strength concrete and steel are desirable because :
(1} Results in smaller cross-section
(2) High bearing stresses are generated in anchorage zones
(3} The shrinkage cracks are reduced
(4) All of the above
74. According to 1.S. specifications, the compressive strength of ordinary portland
cement (33 grade) after three days should not be less than :
(1) 7 MPa (2) 11.5 MPa (3) 16 MPa (4) 21 MPa
75. Which 1.8. code has classified the bricks according to compressive
strength ?
(1) LS.927-2000 (2} 1.8, 456-1978
(3) LS. 1077-1992 (4) 1.S. 825-1985

AT THIHMTGS M/ SPACE FOR ROUGH WORK
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76. What is the ratio of modulus of elasticity of steel and modulus of elasticity of
concrete ?
(1)  Young modulus (2} Poisson’s ratio
(3) Modular ratio (4) None of above
77. Which of the following type of stone is a clay stone with Vesicular texture ?
(1} Granite (2) Laterite (3) Sand stone (4) Lime stone
78. In respect of slenderness limits of columns as per 1.S. 456-2000, the ratio of
unsupported length between end restraints and least lateral dimension should
not exceed : ’
(1) 30 (2) 40 (3) S50 (4) 60
79. Total station is a combination of :
(1} Theodolite and compass
(2) Theodolite and EDM
(3) Electronic Theodolite and EDM
(4) Electronic Theodolite and digital planimeter
80. ___is the state agency in India that prepares maps.
(1) CPWD
(2) Survey of India
(3) Archaeological Survey of India
(4) Bureau of Indian Standard
81. Grinding process used for steel balls of a ball bearing is
(1) Cylindrical grinding (2} Spherical grinding
{3) Surface grinding (4) Centerless grinding
82. Coupling rod of locomotive is an inversion of :
(1} Four bar chain (2) Single slider crank chain
(3) Double slider crank chain (4) None of the above
83. If helix angle of drill is increased then life of cutting edge
(1) increases (2) reduces
(3) no effect (4) none of the above
84. Pressurized and Boiling water reactors are used in :
(1) Hydroelectric power plant (2) Thermal power plant
(3) Nuclear power plant (4) None of the above

HoeAT HAES T/ SPACE FOR ROUGH WORK
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85. The shear strength of a sheet metal is 300 MPa. The blanking force required to
produce a blank of 100 mm diameter from a 1.5 mm thick sheet is close to :

(1) 45kN (2) 70 kN (3) 140 kN (4) 250 kN

86. A pressure force acting on a fluid through a distance produces work is called

(1) shaft work (2) steady work (3) flow work (4} none of these
87. Viscosity of gases with temperature.

(1) decrease (2) increase

(3) remains same (4) none of these
88. Black body will emit energy at a rate proportional to power of the

absolute temperature of the body.

(1} Second (2} Third

(3) Fourth (4) None of the above

89. Brake lining material requires

(1) high coefficient of friction {2) low coefficient of friction
(3) moderate coefficient of friction (4) none of the above

90. Metal ball is at 300°C and is suddenly exposed to atmosphere at 30°C. Which of

the following property is not deciding its time of cooling, if the ball is considered
to be a lumped mass ?

(1) specific heat of metal ball (2} density of metal ball
(3) air heat transfer coefficient (4) thermal conductivity of metal ball

91. The circuit of figure involves the combination of three parallel resistors in series
with the resistor R,. For the resistance values shown, find the value of current
flowing from the voltage source. All resistance values are cxpressed in ohms.

R, =40

a
/M
l

loov.l,_ R,=33.33 €R3=50<R, =20
c

(1) 2A (2) 3A
(3) le6A (4) None of the above

b

oAl HIATATS ST /SPACE FOR ROUGH WORK
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92. The power efficiency of the transformer is maximum when
(1} Copper losses greater than Iron losses
(2) Copper losses less than Iron losses
(3} Copper losses equals Iron losses

(4) None of the above

93. A series circuit is said to be in electrical resonance when its
(1) Net resistance is zero (2) Net impedance is zero

(3) Net reactance is zero (4) None of the above

94, The RMS value of the current i(t) in the circuit shown below is :

1F 1H
| —— T
1 Q)
AW
i(t) 10
AW —
(1.0 sint) V
(1) ¥ Amp (2) ) Amp (3) 1Amp (4) 2 Amp

95. The Thevenin’s equivalent resistance when the current is to be obtained through
2 {) resistance in figure is :

4 Q A 10
L AN * AMAA
>
20 10
va §
B
(1) 50 2) 20 (3) 1.330Q 4) 150

HHoAT HAHEE! ST/ SPACE FOR ROUGH WORK
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Figure shows feeding a Load R;.

300 a
VWA ——O0—

- 360V
Ry,

Find the value of maximum power that can be distributed in the Load R,.
(1) 150W (2) 300W (3) 600W (4) 900 W

97.

The heating and lighting load supplied from three-phase supply have power factor
ranging from .

(1) 0.2t0 0.3 (2) 0.5t00.9

(3) 0.95 to unity (4) None of the above

98.

If the full-load copper losses of a single-phase transformer is 100 W, its copper
losses at half-load, 0.8 power factor will be .
(1) 200w (2) 100W (3) 50w (4) 25W

99,

For a type of load, the regulation of the transformer is negative,
(1) Resistive (2) Inductive
(3) Capacitive {4) None of the above

100.

A sinusoidal alternating voltage of 50 Hz has an r.m.s. value of 200 V, the equation for
instantaneous value is :

{1) 200 sinl00 x.t (2) 282.2 sinl00 .t

(3) 200 sin200 .t (4) None of the above

-00o0-

FeAT HMTEIS RN/ SPACE FOR ROUGH WORK

P.T.O.



B14 24 A
Al — (Y= 1 9% 98....)

@) weEyfeged fafed FHomn faftre Sie =t ®0 (TF 9%) FE.  TAqRasherfdiied soufFet a1 3o
FIRE F FIH HeAE d HA FIOAA SLIH HS IR, W ANS RS F TIER IHGARER IETH
IR e ¢ Titanne) B gk gfaey sevgErs Sfafem-82 " anie TgegER HIEE S
U 9 S S FAMG TF T SIS S0/ e T U TR e dere e 1 B,

(0) HEY TRAArTREE! STarTH fafeq S@ 35 Gucaral IHSANE § VTR WA aie THeweieel UeA
FUATH WA ST, AT THETERETeTEl SUaTgdl SUa SYeAT STUTeheT HIT-1 AagETERS |
TEreRAT Qi A0 AEVIEF ITE.

bl

7. . 201. TAIET =0 T HOAEE HOT TAG: T HA 7
(1} T TS T (2) v fammEm
(3} TN THHREA T (4)  FirmesEs MR

o FER TrE S Y (3) TN TR T oW . AW A WA SR (3) ¥Ee A
e T %, 201 TS s () ¥ oz T SR wed TaEfan e
3TIE,

ww20. D @O @ @
mmﬁwmmwww-mawmmm
o T e daiE i o S He SrEdE. g AT e whiedl IEs
AfeRs W, UfEe ar g U AT T4

FH=TT HUEES A/ SPACE FOR ROUGH WORK



